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ANNUAL SECONDARY EXAMINATION, 2022
(TERM - 1)

( MCQ Type )
AT S A8 / SOCIAL SCIENCE

WHY @ | 97 30 e t{uﬁa; © a0

Time : 1 Hr 30 Min. Full Marks : <0

amrg 199 / GENERAL INSTRUCTIONS :
[ 1y 9o 99 670 OMR Answer Sheet T X |

Carefully fill up the necessary particulars on the OMR Answer Sheet.

39 HGT G B OMR S T35 § & T8 0 W &Y |

o

Put your full signature on thc OMR Answer Sheet in the space provided.

3. 78 9 qRa® H§ FA 40 Fg-Fawea g §

There are 40 Multiple Choice Questions in this Question Booklet.
[t I¥ HAEE & ) UE WY @t A | et s B

All questions are compulsory. Each question carries 1 mark.
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1 g o v fagie e g o 2

(1) 13, 1830 2) IO, 1815
(3) T, 1821 (4) S, 1832

When did the first rebellion take-place in Francc ?

(1) July, 1830 (2)  July, i815

(3) June, 1821 (4) July, 1832

fas 4 ¢ forme faamg o fF S @ o900 & son g @ RISl # WIEIAE
TS ot 7

(1) AT v (2) IGEAGES
(3)  sgadt AfcaHt (4) B

Who among the following believed that the nation was the natural unit of

human beings according to the willlof God ?
(1) Napoleon (2)  Nicholas

{3) Giuseppe Mazzini (4) Metternich

e 8§ -8 92 R 9 F T st ot § T wmEEt @ oden

fmar 2
(1} FufeTa= &0 smgmor (2) g & A GUH
(3) - I il (4) gl AR FHA! BT TehIH0T
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Wwhich of the following cvcnts‘ instilled national sentiments ainona If
educated elite class throughout Europe ?

(1) Napoleon's invasion

(2)  Greek freedom struggle

(3) French revolution

(4)  Unification of Italy and Germany

1848 T RO ¥ & fam-mergy fFe SR 4 fagie & @ 9 7

(1) T (2) IR
(3) EE @) T E |

For what reason(s) were the peasant workers of European couniries
revolting in 1848 ?

(1) Poverty (2) Unemployment

(3)  Hunger (4)  All of these

Fres ot @ ffe o Rl & wR F fdn A geell amd ue ma gns
aATar oy ?

(1) wg (@ e

(3 fawms P

Who among the following formed a secret organization called *Young It

aly’
to spread his objectives ?

(1)  Metternich (2)  Giuseppe Mazzini
(3) Bismarck (4)  Cavour
W favgg f e wmm F o s B %
133 FRT T H w9 & '
1 fe w9 R

(M %*Wwaﬁfﬁnw

@) W e
(3) 3 v e e e

@) T e

8S0c¢
4 of 20



LIAC "o

Wiacrh of the followmyg was done to compensale for the huge increase in

deferce oxpenditure in the First World War ?

i {4.ins were taken in the name of war

21 Taxes were increased

Y Custom duty was increased

(4] All of these

ST AT AT & UHA & g8 o A gae @ o Ty famar @ ?1
o TRIAE TIR (2) do FERTAS HEE

e ITA YR (4) e rindt

The rebyon of non violence can unite all Indians in the thread of unmity

whose hehief was this 2

(1) Mahatma Gandhn (2) Pt Jawaharlal Nehru
P4 e Rajendra Prasad (4) Indira Gandhi

. ST g A W AGAET & A e 0 fae 0d 8 fines we # e e

£l 4

(L AEnE T (2)  qeF7 TN

(3 Fw e (4) T T
4:10)7032
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In which fair did the village peeple of Amritsar gather to p : ipate at

Jallhanwala Bagh ground ?

(1) Baisakhi fair ' (2)  Pushkar fair

(3)  Kumbha fair (4}  Magh fair
)

9. Wﬁmmmmﬁmmﬁ@@ﬁﬁwmﬁmﬁaﬁﬁ

T T HGH FH F a1 ooy ' %
\

W T (2) W

(3) I 4y EufR

{im--
i
L ‘L

The most important demand in the leiter written by Mahatma M

aF X

the Viceroy Irwin was about the abolinon of the 1ax imposed on

item ?

(1) Salt 3 (2) Water
T

3

( } Cloth (4) Propert:y

(0. ‘hm’mwﬁmﬂg 5

(1) o wimys szt
: g (2)  Elo &Y E'Q'-"l
N\ Bl (4) AR 95w
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WhD 1S the author of thc bOOk "Hiﬂd S\’v’ﬂl‘aj" »

(1) Dr. Bhim Rao Ambedkar

(3) Mahatma Gandhi

(1. AHAT F USRI & 89 g e A g ?

(1) faferm refw wga

@)
.

ATt I T

Who is credited with the unificat:on

William Frederick Lewis

(1)
(3)  Otto von Bismarck

2. H-EET e e ad g o 2

(1) 1920

(3) 1921

(2)

Dr. Zakir prussain
(4) | Jawaharlal Nehru
(2) CEIRe AL
(4) TR TR

of Germany °
(2) Heinrich Himmler

(4)

Adeoll Hitler

In which year was Chaurn-Chau i+‘lcidcnt ];appened ?

(1) 1920

(3) 1921
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13, TG gRT 4G ST 36 &5 ¥ TR B I o T B WHAT FT HT FE AT 7

(1) TaT 3OEA (2)  HRT HAEH

(3) TR HTEA (4) TSR SO

The process of carrying away soil from a field or slopy area by wind i+

called
(1)  Wind erosion (2) Sheet erosion
(3) Soil erosion (4) Flaky erosion

14, mﬁr%mwﬁmﬁaﬁzwﬁﬁﬁmﬁﬁﬁ%mmélmm?
(1) Teteog 3R - arsoy (2) TEME AR dqEreiy
(3)  WF AR e (4) fowfge sk dfeg

On the basis of origin, resources are divided into 2 parts. Their names are

(1) Renewable and non-renewable
(2) National and International

. L o
(3} Biotic and abiotic

(4) Df.‘vt‘lupt-(l and accy mulateq

(341017035 |
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5. Fp @ Few e @ pg g ot R ST E 2
(1) g Ja 2y F

@) R w (4) @ S e o

Which of the following soils is also known as ‘regur soil’ ?

(1)  Alluvial soil (2) Black soil
(3) Laterite soil (4) Red and yellow soil
16, T 1992 1, ST & fog @t ¥ ‘T SR Jul e w1 A A
™Y
(1) FHIE AeT-Qiel asel 2  Fes-wEn
3 fo 3 s ‘(4] FeaTER

In which city of Brazil the ‘first International Earth Conference’ was

organized in June 1992 ?

(1)  Campos Jordan-Sao Paulo (2)  Curitiba-Parana

(3) Rio de Janeiro (4) sMVadﬂf

17, F A R A & e e A e S e g g e ¥ 2
(1) SRETS, 3T 791, 397 939 2) e, NS, e
(3)  FRETL, qE, s

(4} grgre, T FeN, FHET
1{19)7032 SQC
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Which of the following Indian states have abundant reserves of mincra]s

and coal ?
(1) Jharkhand, Andhra Pradesh, Uttar Pradesh
(2)  Jharkhand, Odisha, Rajasthan
(3)  Jharkhand, Goa, Assam
(4) Jharkhand, Madhya Pradesh, Chhattisgarh
18, A § T T e A A &7 e S T HE 2
(1) 33 % {2) 43 %
(3) 23% 4) 53 %
What percentage of the land area in India is in the form of plains ?

(1) 33 % (2) 43 9,

(3} 23% {4y 53 %

19, fm%&hwwmwmmw%waﬁwﬁ,ﬁwﬁmaﬁ?ﬁ%ww
F w9 H feg &3 &1 T A § 2

(1) UBE () =M
(3) Uy (4)  TH /T
3-(10)7032 | soc

10 of 20}



20.

21.

< soc

Which region is known to have immense accumula:ign %f minerals, fossil

fuels and forests, which accounts for about 27 % of the couniry's area ?
(1) Plateau (2)  Terrain

(3) Mountainous (4)  All of these

geTe o 7 et @ qe SR @ £ 2

\ud/ e @at (2) o=
@Y i o (@) @ aeEm

What is the main reason for land degradation in Punjab ?
(1) Intensive farming (2) Deforestation

(3)* More irrigation (4)  Too much animal grazing

frer @ foprg wia | HERR FAET Sl H AR 8 2

(1) G ()i
(3) @ (4) 3 ¥ & R

In which of the following provinces, is terraced steppe farming done ?
(1) Punjab (2)  Uttaranchal

(3) Haryana (4)  Uttar Pradesh Plains

51077092 soc
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23.
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st A=y S ity o o & o] AT 2

(1) 1950 (2) 1927

(3; 1980 @ 972

In which year was Wild Life Act of India implemented ?
(1) 1950 | (2) 1927

(3) 1980 (4) 1972

gt e gees-A afed H Ste-fagd . 3ee sl Frad 2k & = 4

@& >
(1) AR 9 TS (2) ARGS9
(3) W uATT @) feuge ofwsE

Which project is used for both hydropower generation and irrigation in

the Satluj-Beas basin 7
(1)  Damodar Valley Project (2)  Bhakra-Nangal Project

{3) Beas Project (4)  Hirakud Project

3 T T we # FH A S T ag @R 2

e ) Ford @ wgeh A
3) I Y e @ T |
17032
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What 1s/am&m{‘8l
world ? R
Drought = =

Increasing @aﬂd for irr

¥

e #iR faeed

Tefisions between groups of speakers '
ium in the 1950s and 196057

(1)  French and Dutch

(3}  French and Sinhalese
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Which religion is followed by most of the Sinhala language speaking

people in Sri Lanka ?
(1) Hindu (2) Muslim

(3) Buddhist (4) Christian

07 ST U g g & ©9 8 i aif & S e e 7
(1) d& (2) ST
(3) W4 (4) S

What is considered the source of political power as a fundamental

principle of democracy ?

(1)  Parliament (2)  Public

(3) State (4) Court
28. A H Al &1 <AvAH el Tel E 2

(1) &5, 9o 397 S7fd & e 9T §2 FErst |

(2) &8 fausE O 82 =l °

(3)  UE widhaia® T W

A4 TR

91107032
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Where is the need for power sharing ?

1 . _ . .

(1) In a Society divided on the basis of region, “”"-L;u;igc and caste
(2)  In large states with territorial divisions

(3)  In each of the democratic states

(4) All of these

29. = T A 6w TR @1 TwE i amat S O @ ot e 1 €9

o R 2
(1)  crRdi® 42) wEE
(3) e (4) OraRe

Which of the following types of conflict often escalates into violence and

political instability 7
(1) Democratic (2)  Social
(3} Economic (4) ~ Traditional

30, dfaur R fafys @R A aEn & sfrarl @ sapa @ o Afgwr FEE 2

(1) A (2) i
— Al
(3) HH% (4) W
. : 15 of 20
— e SOC -
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Who has the right to interpret the constitution and the powers ®f differen
'ho

levels of governments ?

(1). Court (2) President

(3)  Parliament (4)  Prime Mimster

N . . - q=IT & Iaa
3] Yod, mﬁ,aﬁmm,ﬁaﬁ?mﬁ?mhwm ~

@M E 7

1y U (2) rerdt ﬂ?ﬁ

Under which list are the important subjects like police, trade, commerce,

agriculture and irrigation kept ?

(1) Union list (2) Concurrent list

(3)  State list (4) Al of these
32. HF VAT WU ATA TATHRI H YO AR @ fauw fuER e wiE &t

U & 7

(1) F% @ (2} [T THEN

3 oA J @) FF

W TS TN - . . .

..h.u-h government has the special right to run the administration of the

vmon Territories ?

(H Central Gioverni

il Governmen (2) State Government
{33 IIO'C' ] ST E *
. rnment {4)  All of these

J-(10)7032
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33. Wmﬁmmmﬁmﬁ?mmm%ﬁﬁﬁﬂ?%a‘reﬁﬂw

A8 2
'(.“ AT T T "(2) T H s
(3)  HAI H FElHO (4) T e

When powers are taken from the Central and State Government and

given to the local governments, what is it called ?
(1) Trs;nsfer of power (2)  Decentralization of power
(3) Renewal of power (4)  Abuse of power
34, fF T # e aftafer o 2
(1) Fama s (2) A

L

(3)  @8d¥ AEgH @) THEad

Goal(s) included in economic development is/are

(1) Regular employment (2)  Freedom
(3)  Better wages (4)  All of these
35 WRA & fFg T A iyt a1 afawa ®F Faew € 2
(1) BEREE (2) afem
(3 APTE NG
SoC 17 of 20
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Which state of India has the highest percentage of poverty :

(1) Chhattisgarh (2) Odisha
[3.) Manipur (4) Bihar
46, ARE ¥ FEd SUSTRY wHrd 6 wrp o foaré 2t & 2
L 2) wew &

3 FiY &7 (4) WSS &

In which sector is disguised unesiplovment visible in India ?
(1}  Service sector (2)  Organized sector

(3) Agricultural scctor (4) Public sector

37. oA HAFF a9 A AR 7

(1) = e 2 TN

(@) et @) F S

India belongs to which class of eountries ?

(1) Low income (2) Poor

3
(3]  Developed (4)  Low population

WJ-10)7032
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38. 9§ ¥ B srfeqewen @) Fenear # Wi w8
(1) e Hie] IR 2) Tod = e
(3) fowu @reg dmea @) o o

Which of the following represents the size of the economy ?
(1) © Gross Domestic Product (GDP )

(2)  World Trade Organization (WTO)

(3) World Health Organization (WHO)

(4) World Bank (WB)

ST & 7
(1) W (2) fgerms
(3)  gdrEsd (4) TTH @9

Transport, storage, communication, bank services and trade are the

prime examples of activities of which sector ?
(1) Primary (2) Secondary

(3] Tertiar}’ [4] All of these

— 19 20
1-(10)7032 soc s
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40, 8 F S o e AT 97 o ¥

() 2) Y A
(3)  HEEEHE ausm ) N

What type of unemployment is found among agricultural workers ?
(1)  Voluntary unemployment (2) Low unemployment

(3)  Structural unemployment (4) Cyclical unemployment

|

[ioroz2 soc



